Events

1020 I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1
Vs =240 GeV, L=10.8 ab™ ]
107 ee” - ZH,Z ~qq. H - 11, —
10'° ~ E,5>100 GeV, BDT score>0.5 B
104 | _:
~ ——— Z(qa)H(tT) Cgww ]z - QQ 7
12 B 77 [CJee- vy . Z ]
107 = — Z(HH(m) [ Z(TD)H(tT) B Z(tT)H(QQ) =
N 0 Z(DH(gg) B ZODHVWY) =
100 = I ZOVHQQ)  [IZWWHW) =
— I Z()HQQ) [ Z(IH(gg) —
108 [ Z(H(WV) B Z(@)HQQ)  —
o 1 Z(q@)H(VV) =
10" = —
10% _
107 _
1 ]
102 _
107 =
10785 |

FCCAnalyses: FCC-ee Simulation (Delphes)

100 -80 -60 -40 -20 O 20 40 60 80 100
Neutral hadron P, [GeV]



	Contents
	Page 1


